

## ON $p$ -ADIC $q$ -BERNOULLI NUMBERS

TAEKYUN KIM

**ABSTRACT.** We give a proof of the distribution relation for  $q$ -Bernoulli polynomials  $B_k(x : q)$  by using  $q$ -integral and evaluate the values of  $p$ -adic  $q$ -L-function.

### 1. Introduction

Throughout this paper  $\mathbb{Z}_p, \mathbb{Q}_p$  and  $\mathbb{C}_p$  will respectively denote the ring of  $p$ -adic rational integers, the field of  $p$ -adic rational numbers and the completion of algebraic closure of  $\mathbb{Q}_p$ .

Let  $v_p$  be the normalized exponential valuation of  $\mathbb{C}_p$  with  $|p|_p = p^{-v_p(p)} = p^{-1}$ . When one talks of  $q$ -extension,  $q$  is variously considered as an indeterminate, a complex number  $q \in \mathbb{C}$ , or a  $p$ -adic number  $q \in \mathbb{C}_p$ . If  $q \in \mathbb{C}$ , one normally assumes  $|q| < 1$ . If  $q \in \mathbb{C}_p$ , one normally assumes  $|q - 1|_p < p^{-\frac{1}{p-1}}$  so that  $q^x = \exp(x \log_p q)$  for  $|x|_p \leq 1$ .

In the  $p$ -adic case, Carlitz's  $q$ -Bernoulli number  $\beta_k = \beta_k(q)$  are represented by a  $q$ -analogue form of Witt's formula and investigated some properties (see [4], [5]). In [6], Koblitz constructed a  $q$ -analogue of the  $p$ -adic  $L$ -functions which interpolated Carlitz's  $q$ -Bernoulli numbers  $\beta_k(q)$ . In the complex case (see [7]), Tsumura considered a  $q$ -analogue of the Dirichlet  $L$ -series which interpolated  $q$ -Bernoulli numbers  $B_k(q)$ .

Let  $d$  be a fixed integer and let  $p$  be a fixed prime number. We set

$$\begin{aligned} X &= \varprojlim_N (\mathbb{Z}/dp^N\mathbb{Z}), \\ X^* &= \bigcup_{\substack{0 < a < dp \\ (a,p)=1}} (a + dp\mathbb{Z}_p), \\ a + dp^N\mathbb{Z}_p &= \{x \in X \mid x \equiv a \pmod{dp^N}\}, \end{aligned}$$

---

Received January 12, 1999.

1991 Mathematics Subject Classification: 11M41, 11E95.

Key words and phrases: Bernoulli number.

where  $a \in \mathbb{Z}$  lies in  $0 \leq a < dp^N$ .

For any positive integer  $N$ ,

$$\mu_q(a + dp^N \mathbb{Z}_p) = \frac{q^a}{[dp^N]} = \frac{q^a}{[dp^N : q]}$$

is known to be a distribution on  $X$  (see [4], [5]).

This distribution yields an integral for each non-negative integer  $m$ :

$$\int_X [a]^m d\mu_q(a) = \beta_m(q) = I_q([a]^m),$$

where  $\beta_m(q)$  are Carlitz's  $q$ -Bernoulli numbers (see [4], [5]).

In this paper, we show that  $q$ -Bernoulli numbers  $B_k(q)$  can be represented as an integral by  $q$ -analogue  $\mu_q$  of ordinary  $p$ -adic invariant measure and investigate some properties.

As an application, we give a proof of the distribution relation for  $p$ -adic  $q$ -Bernoulli polynomials  $B_k(x; q)$  and construct  $p$ -adic  $q$ -Bernoulli measures to define  $p$ -adic  $q$ - $L$ -series which interpolate  $q$ -Bernoulli numbers  $B_k(q)$ .

**ACKNOWLEDGMENT.** The author acknowledge the financial support of the Korea Research Foundation made in the program year of 1998 and partial support of Korean Minjok Leadership Academy of 1999.

## 2. $q$ -Analogue of $p$ -adic Bernoulli measures

In complex case [1], the Carlitz's numbers  $\eta_k = \eta_k(q)$  are determined by

$$\eta_0 = 0, \quad (q\eta + 1)^k - \eta_k = \begin{cases} 1 & \text{if } k = 1 \\ 0 & \text{if } k > 1. \end{cases}$$

These numbers  $\eta_k$  induce Carlitz's  $q$ -Bernoulli numbers  $\beta_k(q) = \beta_k$  as

$$\beta_0 = 1, \quad q(q\beta + 1)^k - \beta_k = \begin{cases} 1 & \text{if } k = 1 \\ 0 & \text{if } k > 1. \end{cases}$$

In [7], H. Tsumura modified the above numbers  $\eta_k$ , that is,

$$B_0(q) = \frac{q-1}{\log q}, \quad (qB(q) + 1)^k - B_k(q) = \begin{cases} 1 & \text{if } k = 1 \\ 0 & \text{if } k > 1, \end{cases}$$

with the usual convention of replacing  $B_i(q)$  by  $B^i(q)$ .

We use the notation

$$[x] = [x : q] = \frac{1 - q^x}{1 - q}.$$

Note that  $\lim_{q \rightarrow 1} [x : q] = x$ . The  $q$ -Bernoulli numbers  $B_k(q)$  satisfy the following relation

$$B_m(q) = \frac{1}{(q-1)^m} \sum_{i=0}^m \binom{m}{i} (-1)^{m-i} \frac{i}{[i]}.$$

This can be proved by the same method as [1: eq. 4.11].

In this paper, we assume that  $q \in \mathbb{C}_p$  with  $|1 - q|_p < p^{-\frac{1}{p-1}}$ . It is known (see [4], [5]) that

$$\int_{\mathbb{Z}_p} q^{-x} [x]^m d\mu_q(x) = \frac{q-1}{\log q} \int_{\mathbb{Z}_p} [x]^m d\mu_0(x),$$

where  $\mu_0(x + p^N \mathbb{Z}_p) = \frac{1}{p^N}$ .

In the  $p$ -adic case, the  $q$ -Bernoulli numbers  $B_k(q)$  can be represented by

$$B_m(q) = \int_{\mathbb{Z}_p} q^{-x} [x]^m d\mu_q(x).$$

This is easily proved as in [4], [5].

Now, we define  $q$ -Bernoulli polynomials by

$$B_m(x : q) = \int_{\mathbb{Z}_p} q^{-t} [x+t]^m d\mu_q(t).$$

Then these can be rewritten as

$$(q^x B(q) + [x])^m = B_m(x : q),$$

for  $m \geq 0$ .

Indeed we have

$$\begin{aligned}
\int_{\mathbb{Z}_p} q^{-t}[x+t]^n d\mu_q(t) &= \int_{\mathbb{Z}_p} q^{-t}([x] + q^x[t])^n d\mu_q(t) \\
&= \sum_{k=0}^n \binom{n}{k} [x]^{n-k} q^{kx} \int_{\mathbb{Z}_p} q^{-t}[t]^k d\mu_q(t) \\
&= \sum_{k=0}^n \binom{n}{k} [x]^{n-k} q^{kx} B_k(q) = (q^x B(q) + [x])^n.
\end{aligned}$$

As  $q \rightarrow 1$ , we have  $B_k(q) \rightarrow B_k$  and  $B_k(x : q) \rightarrow B_k(x)$ .

LEMMA 1. For  $n \geq 0$ , we have

$$\int_{\mathbb{Z}_p} \chi(x) q^{-x} [x]^n d\mu_q(x) = \int_X \chi(x) q^{-x} [x]^n d\mu_q(x).$$

This can be easily proved as in [4], [5].

The following lemma is used to construct the  $p$ -adic  $q$ -Bernoulli measures. A simple proof in the  $p$ -adic case can be given by using  $I_q$ -integration of  $q$ -Bernoulli numbers.

LEMMA 2. For any positive integer  $d, k$  we have

$$[d]^{k-1} \sum_{i=0}^{d-1} B_k \left( \frac{x+i}{d} : q^d \right) = B_k(x : q).$$

*Proof.* From the definition of  $B_k(x : q)$ , we can write

$$\begin{aligned}
B_k(x : q) &= \int_X q^{-t}[x+t]^k d\mu_q(t) = \lim_{\rho \rightarrow \infty} \frac{1}{[dp^\rho]} \sum_{n=0}^{dp^\rho-1} [x+n]^k \\
&= \lim_{\rho \rightarrow \infty} \frac{1}{[d]} \frac{1}{[p^\rho : q^d]} \sum_{i=0}^{d-1} \sum_{n=0}^{p^\rho-1} [x+i+dn]^k \\
&= \lim_{\rho \rightarrow \infty} \frac{1}{[d]} \frac{1}{[p^\rho : q^d]} \sum_{n=0}^{d-1} \sum_{n=0}^{p^\rho-1} \left( \left[ \frac{x+i}{d} + n : q^d \right] [d] \right)^k
\end{aligned}$$

$$\begin{aligned}
&= \frac{1}{[d]} \sum_{i=0}^{d-1} [d]^k \int_{\mathbb{Z}_p} \left[ \frac{x+i}{d} + t : q^d \right]^k d\mu_{q^d}(t) \\
&= [d]^{k-1} \sum_{i=0}^{d-1} B_k \left( \frac{x+i}{d} : q^d \right). \quad \square
\end{aligned}$$

**THEOREM 1.** For any positive integer  $N, k$  and  $d$ , let  $\mu_k^* = \mu_{k,q}^*$  be defined by

$$\mu_k^*(a + dp^N) = [dp^N : q]^{k-1} B_k \left( \frac{a}{dp^N} : q^{dp^N} \right).$$

Then  $\mu_k^*$  is measure on  $X$ .

*Proof.* It suffices to check that

$$\sum_{i=0}^{p-1} \mu_k^*(a + idp^N + dp^{N+1}\mathbb{Z}_p) = \mu_k^*(a + dp^N\mathbb{Z}_p).$$

By definition of  $\mu_k^*$ , we have

$$\begin{aligned}
&\sum_{i=0}^{p-1} \mu_k^*(a + idp^N + dp^{N+1}) \\
&= [dp^{N+1} : q]^{k-1} \sum_{i=0}^{p-1} B_k \left( \frac{a + idp^N}{dp^{N+1}} : q^{dp^{N+1}} \right) \\
&= [dp^N : q]^{k-1} [p : q^{dp^N}]^{k-1} \sum_{i=0}^{p-1} B_k \left( \frac{\frac{a}{dp^N} + i}{p} : (q^{dp^N})^p \right) \\
&= [dp^N : q]^{k-1} B_k \left( \frac{a}{dp^N} : q^{dp^N} \right) \\
&= \mu_k^*(a + dp^N\mathbb{Z}_p).
\end{aligned}$$

Thus we proved the above Theorem 1. □

Let  $\chi$  be a Dirichlet character with conductor  $f$ .

Now we define the generalized  $q$ -Bernoulli numbers as

$$B_{k,\chi}(q) = \int_{\mathbb{Z}_p} \chi(x) q^{-x} [x]^k d\mu_q(x).$$

From the above definition, we have

$$B_{k,\chi}(q) = [f]^{k-1} \sum_{a=0}^{f-1} \chi(a) B_k \left( \frac{a}{f} : q^f \right).$$

We can express a generalized  $q$ -Bernoulli number as an integral on  $X$ , by using the measure  $\mu_k^*$ .

**THEOREM 2.** *For any positive integer  $k$ , we have*

$$\int_X \chi(x) d\mu_k^*(x) = B_{k,\chi}(q).$$

*Proof.* From the definition of  $\mu_k^*$ , we see that

$$\begin{aligned} & \int_X \chi(x) d\mu_k^* \\ &= \lim_{n \rightarrow \infty} \sum_{a=0}^{fp^n-1} \chi(a) \mu_k^*(a + fp^n \mathbb{Z}_p) \\ &= \lim_{n \rightarrow \infty} \sum_{a=0}^{fp^n-1} \chi(a) [fp^n : q]^{k-1} B_k \left( \frac{a}{fp^n} : q^{fp^n} \right) \\ &= \lim_{n \rightarrow \infty} [f]^{k-1} [p^n : q^f]^{k-1} \sum_{a=0}^{f-1} \sum_{b=0}^{p^n-1} \chi(a + fb) B_k \left( \frac{a + fb}{fp^n} : q^{fp^n} \right) \\ &= [f]^{k-1} \sum_{a=0}^{f-1} \chi(a) \lim_{n \rightarrow \infty} [p^n : q^f]^{k-1} \sum_{b=0}^{p^n-1} B_k \left( \frac{\frac{a}{f} + b}{p^n} : (q^f)^{p^n} \right). \end{aligned}$$

By Lemma 2, we obtain that

$$\int_X \chi(x) d\mu_k^*(x) = [f]^{k-1} \sum_{a=0}^{f-1} \chi(a) B_k \left( \frac{a}{f} : q^f \right) = B_{k,\chi}(q).$$

Therefore the above Theorem 2 is proved.  $\square$

Next we give a relation between  $\mu_k^*$  and  $\mu_q$ .

**THEOREM 3.** *For any positive integer  $k$ , we have*

$$q^{-x}[x]^k d\mu_q(x) = d\mu_k^*(x).$$

Let  $p$  be a prime number and let  $\chi$  be a Dirichlet character with values contained in the algebraic closure of  $\mathbb{Q}_p$ . We set  $p^* = p$  for  $p > 2$ , and  $p^* = 4$  for  $p = 2$ , and denote by  $\bar{f} = (f, p^*)$  the least common multiple of conductor  $f$  of  $\chi$  and  $p^*$ .

Let  $B_{n,\chi}(q)$  denote the  $n$ -th generalized  $q$ -Bernoulli number belonging to the character  $\chi$ .

Then we have  $q$ -analogue form of Witt's formula in the  $p$ -adic cyclotomic field  $\mathbb{Q}_p(\chi)$  as follows:

$$B_{m,\chi}(q) = \lim_{\rho \rightarrow \infty} \frac{1}{[\bar{f}p^\rho]} \sum_{x=1}^{\bar{f}p^\rho} \chi(x)[x]^m$$

for all  $n \geq 0$ .

Herein as usual we set  $\chi(x) = 0$  if  $x$  is not prime to the conductor  $f$ . In this section we shall give a few simple formulas of congruences for the generalized  $q$ -Bernoulli numbers. From the above formula for  $B_{n,\chi}(q)$  we have

$$\begin{aligned} B_{n,\chi}(q) &= \lim_{\rho \rightarrow \infty} \frac{1}{[\bar{f}p^\rho]} \sum_{1 \leq x \leq \bar{f}p^\rho}^* \chi(x)[x]^n \\ &+ \lim_{\rho \rightarrow \infty} \frac{1}{[\bar{f}p^{\rho-1} : q^p][p]} \sum_{y=1}^{\bar{f}p^{\rho-1}} \chi(p)\chi(x)[p]^n [y : q^p]^n \end{aligned}$$

where  $*$  means to takes sum over the rational integers prime to  $p$  in the given range.

Thus we have

$$\begin{aligned} B_{n,\chi}(q) &= \lim_{\rho \rightarrow \infty} \frac{1}{[\bar{f}p^\rho]} \sum_{1 \leq x \leq \bar{f}p^\rho}^* \chi(x)[x]^n \\ &+ [p]^{n-1} \chi(p) B_{n,\chi}(q^p), \end{aligned}$$

that is,

$$B_{n,\chi}(q) - [p]^{n-1}\chi(p)B_{n,\chi}(q^p) = \lim_{\rho \rightarrow \infty} \frac{1}{[\bar{f}p^\rho]} \sum_{1 \leq x \leq \bar{f}p^\rho}^* \chi(x)[x]^n.$$

We choose a rational number  $c \in \mathbb{Z}$  such that  $(c, \bar{f}) = 1, c \neq \pm 1$ .

Let  $x$  run over the range  $1 \leq x \leq \bar{f}p^\rho, (x, p) = 1, x_\rho$  run over the range  $1 \leq x_\rho \leq \bar{f}p^\rho, (x_\rho, p) = 1$ , and determine a number  $r_\rho(x) \in \mathbb{Z}$  by  $x_\rho = cx + r_\rho(x)\bar{f}p^\rho$ .

Taking the  $n$ -th power of this equality and making sum with the character  $\chi$  we obtain

$$\begin{aligned} & \frac{1}{[\bar{f}p^\rho]} \sum_{1 \leq x \leq \bar{f}p^\rho}^* \chi(x_\rho)[x_\rho]^n \\ & \equiv \frac{1}{[\bar{f}p^\rho]} \sum_{1 \leq x \leq \bar{f}p^\rho}^* \chi(cx)[cx]^n + n \sum_{1 \leq x \leq \bar{f}p^\rho}^* \chi(cx)[cx]^{n-1}[r_\rho(x) : q^{\bar{f}p^\rho}] \\ & \pmod{[\bar{f}p^\rho]}. \end{aligned}$$

If  $\rho \rightarrow \infty$ , we get

$$\begin{aligned} & B_{n,\chi}(q) - [p]^{n-1}\chi(p)B_{n,\chi}(q^p) \\ & = \chi(c)[c]^n(B_{n,\chi}(q^c) - [p : q^c]^{n-1}\chi(p)B_{n,\chi}(q^{pc}) \\ & \quad + n \lim_{\rho \rightarrow \infty} \sum_{1 \leq x \leq \bar{f}p^\rho}^* \chi(cx)[cx]^{n-1}[r_\rho(x) : q^{\bar{f}p^\rho}]. \end{aligned}$$

Thus we have

$$\begin{aligned} & \lim_{\rho \rightarrow \infty} \sum_{1 \leq x \leq \bar{f}p^\rho}^* \chi(cx)[cx]^{n-1}[r_\rho(x) : q^{\bar{f}p^\rho}] \\ & = \frac{1}{n}(B_{n,\chi}(q) - [p]^{n-1}\chi(p)B_{n,\chi}(q^p)) \\ & \quad - \frac{1}{n}\chi(c)[c]^n(B_{n,\chi}(q^c) - [p : q^c]^{n-1}\chi(p)B_{n,\chi}(q^{pc})). \end{aligned}$$

Let we define the operator  $\chi^y = \chi^{y,k;q}$  on  $f(q)$  by

$$\begin{aligned} \chi^y f(q) &= [y]^{k-1}\chi(y)f(q^y), \\ \chi^x \chi^y &= \chi^{x,k;q^y} \circ \chi^{y,k;q}. \end{aligned}$$

Then we see that  $\chi^x \chi^y = \chi^{xy}$ .

Therefore we obtain the following

PROPOSITION 1. For  $n \geq 1$ , we have

$$\lim_{\rho \rightarrow \infty} \sum_{1 \leq x \leq \bar{f}p^\rho}^* \chi(cx)[cx]^{n-1}[r_\rho(x) : q^{\bar{f}p^\rho}] = (1 - \chi^p)(1 - [c]\chi^c) \frac{B_{n,\chi}(q)}{n}.$$

Now we define

$$\mu_k^c = \frac{1}{k} (\mu_{k;q}^*(U) - [c]^k \mu_{k;q^c}^*(\frac{1}{c}U))$$

where  $U \subset X$  is a compact open set. Note that  $\mu_k^c$  is a measure on  $X$ . Here, we define  $X^* = X - pX$ . This measure yields an integral as follows.

$$\int_{X^*} \chi(x) d\mu_k^c(x) = (1 - \chi^p)(1 - [c]\chi^c) \frac{B_{k,\chi}(q)}{k}$$

Therefore we obtain the following

THEOREM 4. For  $k \geq 1$ , we have

$$\int_{X^*} \chi(x) d\mu_k^c(x) = \lim_{\rho \rightarrow \infty} \sum_{1 \leq x \leq \bar{f}p^\rho}^* \chi(cx)[cx]^{k-1} \left[ \left[ -\frac{cx}{\bar{f}p^\rho} \right]_G : q^{\bar{f}p^\rho} \right],$$

where  $[\cdot]_G$  is Gauss's symbol.

Let  $\omega$  denote the Teichmüller character mod  $p^*$ . For  $x \in X^*$ , we set  $\langle x \rangle = \langle x : q \rangle = [x]/\omega(x)$ . Note that  $\langle x \rangle^s$  is defined by  $\exp(s \log \langle x \rangle)$ , for  $|s|_p \leq 1$ .

For  $r \in \mathbb{Z}$ , if we define

$$\zeta_{p,q}(r) = \frac{1}{r-1} \lim_{k \rightarrow \infty} \frac{1}{[p^k]} \sum_{m=0}^{p^k-1} \frac{1}{[m]^{r-1}},$$

then we have

$$\zeta_{p,q}(1-k) = -\frac{B_k(q)}{k}.$$

Here, we can also define  $L_{p,q}$  as follows.

$$\begin{aligned} L_{p,q}(r, \chi) &= \frac{1}{r-1} \lim_{k \rightarrow \infty} \frac{1}{[fp^k]} \sum_{1 \leq n \leq fp^k}^* \frac{\chi(n)\omega^{r-1}(n)}{[n]^{r-1}} \\ &= \frac{1}{r-1} \lim_{k \rightarrow \infty} \frac{1}{[fp^k]} \sum_{1 \leq n \leq fp^k}^* \chi(n)\langle n \rangle^{1-r}. \end{aligned}$$

Thus we find that

$$\begin{aligned} L_{p,q}(1-k, \chi\omega^k) &= -\frac{1}{k} \lim_{m \rightarrow \infty} \frac{1}{[fp^m]} \sum_{1 \leq n \leq fp^m}^* \chi(n)[n]^k \\ &= -\frac{1}{k} \int_{X^*} \chi(x)[x]^k q^{-x} d\mu_q(x) \\ &= -\frac{1}{k} (B_{k,\chi}(q) - \chi(p)[p]^{k-1} B_{k,\chi}(q^p)). \end{aligned}$$

Therefore we obtain the following

PROPOSITION 2. ( $q$ -analogue of  $L_p(1-k, \chi\omega^{-k})$ )  
For  $k \geq 1$ , we have

$$L_{p,q}(1-k, \chi\omega^k) = -\frac{1}{k} (B_{k,\chi}(q) - \chi(p)[p]^{k-1} B_{k,\chi}(q^p)).$$

### References

- [1] L. Carlitz,  $q$ -Bernoulli numbers and polynomials, *Duke Math. J.* **15** (1948), 987-1000.
- [2] ———,  $q$ -Bernoulli and Eulerian numbers, *Trans. Amer. Math.* **76** (1954), 332-350.
- [3] T. Kim and H. Kim, *Remark on  $p$ -adic  $q$ -Bernoulli numbers*, *Advanced Studies in Contemporary Mathematics* **1** (1999), 127-136.
- [4] H. Kim and T. Kim, *On certain values of  $p$ -adic  $q$ - $L$ -functions*, *Rep. Fac. Sci. Engr. Saga Univ. Math.* **23** (1995), 1-7.
- [5] T. Kim, *On a  $q$ -analogue of the  $p$ -adic log gamma functions and related integrals*, *J. Number Theory* **76** (1999), 320-329.
- [6] N. Koblitz, *On Carlitz's  $q$ -Bernoulli numbers*, *J. Number Theory* **14** (1982), 332-339.
- [7] H. Tsumura, *A note on  $q$ -analogue of Dirichlet series and  $q$ -Bernoulli numbers*, *J. Number Theory* **39** (1991), 251-256.
- [8] L. C. Washington, *Introduction to Cyclotomic Fields* (1st, ed.), Springer-Verlag, 1982.
- [9] ———, *Introduction to Cyclotomic Fields* (2nd, ed.), Springer-Verlag, 1997.

Department of Mathematics  
Korean Minjok Leadership Academy  
1334 Sosa, Anheung, Hoengsong  
Kangwon Province 220-820, Korea  
*E-mail*: taekyun@minjok-h.ed.kangwon.kr